Ramagundam Fertilizers and Chemicals Ltd

Recruitment of Non-Executives (ITI Holders) in RFCL (Advertisement No. Rectt/01/2024 )
Question Paper Cum Answer Key for Written Test held on 7t April 2024
for the post of Attendant Gr. | (Mechanical) (W-2) (Diesel Mechanic (55))

Q.1. Which type of battery does not emit gas or get overheated?

%?Wﬁﬁ%wﬁﬁﬁmmmwﬁ

A). |Lead acid battery
oS RS 9l

B). |SMF battery [Correct Answer]
SMF det

C). |Lithium ion battery
oo 3 dev

D). | Aluminum ion battery

TR 3 det

Q.2. Towards which direction a free suspended magnet always points?

TP WHd O 9 dACHl g3l A-e el & f=m 91 3R seIRT
HAT &7

A). |North-east
STR—7d
B). |South-west
SleoT—uf¥ed
C). |North-south [Correct Answer]
ITR—G T
D). |South-east
aferor-gd

Q.3. Which electrical appliance has mercury vapor in the glass tube which
emits ultraviolet radiation when switched on?

fra TR &) B B el § AP JUR BIdT & o
qTe], R IeE[AIIeic SYIM ScHford Rl 87
A). |LED lamps
LED <
B). CFL lamps [Correct Answer]
CFL <iu
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SRS
D). |Tungsten filament lamps
SeA fhaiie o

Q.4. Which type of thermistor is shown in the below image?

= foy v A ¥ fed yeR @1 affier feamr & 27

A). |Bead type

drs ez
B). Probe type
EIEESIER
C). |Radial leaded
NEREEISS]
D). |Axial leaded [Correct Answer]
NENPREGISS
Q.5. Identify the device shown in the given image.
o % fammg 1y gy a1 vg=E?
A). |Relay
Ret
B). |Winding
EIEISHI
C). |Solenoid [Correct Answer]
SIGRIES]
D). Rotor coil
NCAEIES

Q.6. Which procedure pulls a mass of air from the atmosphere into the
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Al gmmm?ﬁwwwﬁm?mw

A). |Intake stroke [Correct Answer]

TCh D

B). |Compression stroke
BB D

C). |Expansion stroke
TRAIRIT ¥ETh

D). |None of these

3T A BIE Tl

Q.7. Which of the flywheel's functions helps the engine and transmission
engage and disengage power smoothly, enabling gear changes and
vehicle operation?

e D e 1 M 0 S
T T O g e i i

e AT I -4

A). |Power regulation
RIESRSIG]

B). |Enhancing crankshaft rotation
GBI ShhelIe IICT

€). |Smooth power delivery
I UleR fSefrady

D). |Clutch functionality [Correct Answer]
CRERENEINE

Q.8. Which type of reciprocating engine is shown in the below image?

Qjﬁqwﬁaﬁﬁ?ﬂwzﬁrwmﬁ@mw
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ST gold

B). |In-Line engine [Correct Answer]
$I—8T g

C). |Horizontally opposed engine
BIRGICall 3UIeS Sol

D). |V engines
V o+

Q.9. What is the name of the component H of hydraulic jack shown in the
given image?

?WW%ﬁW%$WHWHﬂW
?

A). |Bearing pad
T s

B). |Hydraulic ram
HENISERG]
C). [Filler plug
fthelR w7
D). Piston assembly [Correct Answer]

e ardael

Q.10. Which type of combustion chambers are crucial in rocket propulsion
systems, where fuel and oxidizer are burned to produce thrust?

Jae TuRH Rveq 4 foa @ HEIE AWR_AGAYOl
mﬁqgfraﬁ?a‘ﬁ@@w@wﬁﬂmz%mmaﬁnﬁ

A). | Piston engine combustion chamber
fiRe 911 P dRR

B). |Gas turbine combustion chamber
g A5 HHEIE IR

C). |Rocket engine combustion chamber [Correct Answer]
be I B R
D). |None of these
" e
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Q.11. Which gasket is suitable for a wide range of pressure and temperature
classes?

DI 91 IRDE IR SR AHH A Dl Ta fawga sfaen &
fog Sugw 77

A). | Camprofile gasket
DHEHISA DT

B). |Ring joint gasket
7 Sarge Ibe

C). |Composite gasket
HHITSTC IRDe

D). |Spiral wound gasket [Correct Answer]

IfteT ars~s e

Q.12. What is the name of the tool shown in the below image?

1 fe@m Y R # < 31 aW T4 2?

A). |Dial bore gauge
S AR S

B). Hydraulic ram [Correct Answer]
EENISERS

C). |Feeler gauge
HIeR IS

D). |Tire pressure gauge

TRR YIRS

Q.13. Which thread sealant does not crack or shrink and creates a tight air and
water-proof seal?

ﬁﬁﬂ%@éﬁ@gﬁ@ﬂﬂﬁ%@?@?@w
3R d1eX Y% Wil ST &7

A). |PTFE sealing tape
PTFE <fifeiT 2u

B). |Thread sealing compound
S T Fud

C). | Anaerobic thread sealant [Correct Answer]
TIRIfd® I dlele
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D). | Thread sealing string
g ifel T Rg

Q.14. Which of the following formulas can be used to find the die for shaft
diameter of a rod?

YRS TR T e Pt

A). D=d- p x 0.1 [Correct Answer]
B). D=d+px0.1
). D=dxpx0.1

D). |None of these

3T A DI T

Q.15. Which type of resistors oppose Ohm's law wherein the electric current
flowing through them changes with the exchange in applied voltage or
temperature’

%W ﬁﬁwa@%ﬁ'\q%w
W—Wzﬁwmmﬁr%‘?

A). |Linear resistors

SR YRR

B). | Non-linear resistors [Correct Answer]
A iR YRR

C)-  |Fixed resistors
s YRR

D). |variable resistors
o\ o\
IRTTT IR

Q.16. Identify the type of screw extractor shown in the below image.

A @y Ty o # & TeRILaey @ UBR Bl Uga |

A). | Straight flute extractor
T UelC Tagacy
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f$o1 fdc TRIgdeR

C). |Dual edged extractor [Correct Answer]
e o8 TRIgdey

D). |Spiral flute extractor
Affd el TaAgaey

Q.17. Which dies are typically used in the jewellery industry for creating
intricate designs and patterns on metal surfaces?

R T TR T

A). |Pipe die
EIERESIF]

B). |Acron die [Correct Answer]
AR RSIF]

C). |Split die
e g

D). |Adjustable die
NSEESERESIE]

Q.18. Which lubricants seep into tiny cracks present in the metal surface and
break up rust?

wg{g@%‘d ﬁrﬂﬁqu'ﬂ‘ra—a‘raa‘mﬁﬁg'ﬁ

A). |Dry Lubricants
S gfidbe

B). |Lubricating Through Oil
3 §RT fSbe

0. Penetrating Lubricants [Correct Answer]
Ug ST Jfdde

D). |None of these

379 A BIE Tl

Q.19. Which part of the carburetor has an opening and closing tap that is
linked to the accelerator of the motorcycle?

e 018 3 T PR AR FRARIT 27 B & 9
o e e T s IR g

A). |Venturi
.a

B). |Throttle Valve [Correct Answer]
gfce daled

Float Chamber
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TFAle R
D). |Idling Nozzles
Mg SIoRT ATotel

Q.20. Which type of fuel is used in the electric motors that derive their power
from the ship’s generator power?

soifdg® Ay A f5d @ TG ST
STETSl &1 SFReX UlaR amﬁumm %}—mm%

A). |Diesel-electric propulsion [Correct Answer]
SIvTd—Sclfdgd TIel

B). | Low sulphur marine fuel oil
Al e T R 3R

C). | Heavy fuel oil
g WA I
D). | None of these

39 A DS T

Q.21. Which component of an emission control system is inserted into the
exhaust system to get rid of the pollutants in vehicles?

ﬁgmﬁmqﬁa%mw Rreq &1

¥ STell ST &

A). | Airinjections
TR gOTeT

B). |PCVvalve
PCV dareg

C). |Evaporative control system
vaIRfed derd RRed

D). |Catalytic converter [Correct Answer]
dhefeafdd Haaey

Q.22. Which among the following is a biological hazard?

frraforRaa & ¥ B9 91 U IRGoDe goils 27

A). |Fever sickness

HIaR RIH-d

B). |Smoking
BT

C). |Infection [Correct Answer]
ERSEAl
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Q.23. Identify the part of the crankshaft marked as x.

PHIMIC P x D ©Y | AH YIS DI YgaM |

A). |Vibration damper mounting [Correct Answer]
qISse SFR ARfET

B). | Crankpin journals
i ST

C). | Flywheel mounting flange
FATS @Il AT Telol

D). |Counterweight
PHIICAC

Q.24. Which class of fire involves flammable gases?

BRR & fod 7o ¥ Forvger 9 il g 87

A). |Class A
FoIrg A
B). |ClassB
T B

C). Class C [Correct Answer]
T C

D). |Class D
Forg D

Q.25. Which instrument is used to measure the diameter of camshaft journals?

mm a%amﬁa?ﬁﬂmﬁa%%mﬁ?ﬂs@ew

A). | Three-point internal micrometer
ol GIgC ScRAd HAIgshIHICY

B). |Depth micrometer

SJ ATSHhIHIC

C). |Inside micrometer
TS HIShIHICY

D). |Outside micrometer [Correct Answer]
TS ATghIHICR
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Q.26. Which are the most widely used reamer and commonly used in lathes to
enlarge smooth holes?

3 g s ¥ R Ser
R T ST, T ¥

A). | Morse taper reamers
AN TWR IR

B). Chucking reamers [Correct Answer]
FfhT IR

C). |Automotive reamers
iferifiea IR

D). |Taper pin reamers

TR U IR

Q.27. Which resistor is used in electrical and electronic circuits to reduce the
amount of electric current within the circuit?

Solfdsdhd 3R Tfpe & Ffhe » Hiar _gafagd HY
%o‘;rwﬁam mmﬁwwwm%

A). |Linear resistors
AR IRRER

B). |Fixed resistors
s YRRex

C). |Ballast resistors [Correct Answer]
Re YRR

D). |Non-linear resistors

AFA—eNRR YRR

Q.28. Which device has the ability to store electrical charge?

fra fearsa ¥ safdsad ISl o R $A P &9ar sk 87

A). | Resistor
YRR
B). |Insulator

el

C). |Conductor
Py
D). Ca pacitor [Correct Answer]

HURTCY

Q.29. Which of the following is the quenching media of normalizing?

fAfaRag § @ o9 a1 AdensiiT &1 [T Hifear &7
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A).

B).

Q).

D).

Air

TR

Water Spray

qrex |

Qil [Correct Answer]
SR

Brine

EIEN]

Q.30. Which type of air cleaner has a fire mesh screen placed over a

A).

N

Q).

D).

specifically pleated part for strength?

W$waﬁﬂﬂ?ﬁﬂmq3ﬁa%ﬁqﬁmﬂwﬁ@é€

TR BRR A SIS el

Oil Wetted Type
I dcs Ty

Dry Type [Correct Answer]

SIEREEL

Paper Pleated Type
TR s <8y
Centrifugal Type
NIBARUEEEER

Q.31. Identify the tool shown below.

A).

B).

Q).

D).

i feEY T < B e |

Inner-tube exhaust
sR—cd e
Single exit pipe
RiTTe Tfisie U1y

Dual rear exit

SId R ulsre

Dual side exhaust [Correct Answer]
Sl AgS TGS

Q.32. Which function of the manifold helps the engine to operate more

efficiently and optimizes power output?
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B SO aﬁaféiﬁmmﬁam%e
Eﬂaﬁ%w P H A3 DRl 27

A). |Collecting exhaust gases
PleetdeTT TaiRe 14

B). | Balancing intake and exhaust valve timing
SoIRIT 3¢ 3N TISie dled <IgiAT

C). | Channeling exhaust gases
TIRT TeiRe 19

D). | Equalizing cylinder pressures [Correct Answer]
ghATSIT Riefey UK

Q.33. Which among the following laws is applied in the hydraulic brake
system?

Wﬁﬁaﬁqwﬁmm@%%ﬁmﬂﬁmm

A). Charles's law
e At
B). |Boyle's law
I ot
C). |Pascal's law [Correct Answer]
URhel @l
D). |Newton's law
= ol

Q.34. Identify the part of the clutch marked as x.

X ® ®9 ¥ e o9 & Ui o7 ggar |

A).  [Flywheel
ESIMSIS

B). |Pressure plate
TR Wi

Releasing sprin

Jom Anil Sir I‘?’I Telegram channel for latest Updates



RS Rz
D). | Clutch disc [Correct Answer]
CRERSSY

Q.35. Which step of the overhauling process uses the latest inspection
instruments to check spare connecting rods of the diesel engine?

ST N 3 A 2 3 S $7 ) SRR,
iRy IR TR

A). |Inspection of diesel engine [Correct Answer]
SISl oI T {+RIefor

B). |Removal and disassembly of the engine
so &1 Ryad iR fewwaet &=

C). |Calibration and overhaul of engine spare parts
SO WIR UTeH &1 Dhicsed AR 3MaveTe

D). |None of these

30 A DS el

Q.36. In which type of valve rotation, the thimble end of the rocker arms is
fitted at the edge of the valve stem’

A). |Free valve rotation
Wl dred ST

B). |Positive valve rotation
gifsifed ared e

€). |Roto cap valve rotation
el dU dqred AT

D). |Offset valve rotation [Correct Answer]

I AT dTed eI

Q.37. Which part of a piston prevents gas from leaking in the combustion
process?

gﬂ%ﬁgaﬁﬁwmwmﬁﬁvﬁmﬁﬁﬁ

A). | Piston crown

e e

B). |Piston pin
fiRe1 U

C). |Pistonrings [Correct Answer]
fies R
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D). |Piston bearings
e R

Q.38. Which type of drilling machine is shown in the given image?

& T8 BfY 7 fa R @t f¥felT wim fRad w18 =7

A).  |Portable drilling machine
areqd fefeiT w=ie

B). |Bench drilling machine [Correct Answer]
9 fgfel w=iA

C)-  |Pillar drilling machine
e fefor 7=

D). |None of these

30 A DS 6T

Q.39. Which of the following is the difference between the groove depth and
ring width?

Frfoed ¥ & g 1 &R R fey & 9 B T oiR 87

A). |Butt clearance
ECACSIRRS]
B). |CPR groove measurement
CPR Y@ #oiRHe
C). | Axial clearance
NESREEGTINSS]
D). |Radial clearance [Correct Answer]

ST Fof N

Q.40. Identify the instrument shown in the image.

Bfd # @Y Y SUHT BT g™ |
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A).  Housing for thermostat
BRI BR ARTS

B). |Springs close valve
R o ared

C). Valve retainer [Correct Answer]
ared ReR

D). |None of these

3T 9 BIS e

Q.41. In which type of engine design, the crankshaft and connecting rods
operate in an enclosed space?

3 ' % S IR TR
Ul RSl B TR

A). Dry crankcase [Correct Answer]
SEERES

B). |Wet crankcase
qC Dhhdd

C). |Semi-wet crankcase
I — IC hhad

D). Closed crankcase

TS Dhd

Q.42. Which sprockets have hubs of equal thickness on both sides of the plate?

e Bide d @ & AT AR 9 AICE P 89 BId 27

A). Type A
CIELIPAN
B). |TypeB
<rsy B
C). |Type C [Correct Answer]
ergy C
D). TypeD
ey D
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Q.43. Which property of lubricant has high temperature beyond which the
lubricant vaporizes and gets burnt?

A).  |Viscosity
faepIRIS
B). |Pour Point
IR @rge
C). |Chemical Stability
DHiAda efaferel
D). Flashpoint [Correct Answer]
Fol¥l @ige

Q.44. Identify the name of the tool given below

A fRQ ¢ T &1 T ygE |

A). |Engine valve
goi dled

B). Valve train [Correct Answer]
ared g

C). |Valve seat
qred I

D). |Vvalve stem

qled H

Q.45. Which type of pump sits right inside the sump pit and functions while
underwater?

A). |Battery operated backup
I MRS 3

B). |Pedestal pumps
Us¥cd ug

C). |Submersible pumps [Correct Answer]
SERINEREEL]

D). |Combination sump pump
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I I= Ug

Q.46. In which type of lubrication system, scoop splashes the oil by centrifugal
force to all engine parts when the engine runs?

P Rieeq ¥, 399 g HETRETE
mg\ﬁrwm wﬁwﬁwa‘@q‘m@?@

A).  |Petroil Lubrication System
YRS offshe Rieed

B). |Splash Lubrication System [Correct Answer]
Wolel ofsiher Ried

C).  |Pressure Lubrication System
YR ffsae ReH

D). |Dry Sump Lubrication System
TS 99 Jfsaed e

Q.47. Which type of oil filter is shown below?

frd YR @1 difga fheey fe@mm T 87

A). | Spinner oil filter
RoR 3ifgeT fhoex
B). |Full-flow oil filter
B Tl 3ifgd fheex
C). |Spin-on ol filter
RoT—3iTT 3ifset fheex
D). |Cartridge oil filter [Correct Answer]
BIfeT gl fheex

Q.48. Which type of pump aligns with the engine cylinders in their number of
fuel pressure mechanisms?

A). Inline injection pumps [Correct Answer]
SRRIEREESESE R

B). |Continuous pump
PER Y
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C)-  |High-pressure common rail pump
gTs YR AT Vol UY
D). |None of these

30 A DS T

Q.49. What is the use of the tool shown below?

A fe=ag U T T /T ST 2°

A).  [Transmits torque
<l i &Rl &

B). |Adjusts slackness [Correct Answer]
T HI P JSoRT el &

C).  |Controls the opening and closing of valves
It B Gert SR 4T B B PRI FRar @
D). |Stores mechanical energy
AI3® SHoil B FUfRT Har 2

Q.50. Which among the following hydrocarbons possess one or multiple
carbon rings?

%ﬂ@%ﬁﬁma@mﬁﬁwmmaﬂéﬂw

A). |Saturated Hydrocarbons
HRCS TS SIDIEH

B). |Unsaturated Hydrocarbons
IAHIRCS BISSIBIE

C)- | Aromatic Hydrocarbons
WRHCH BTZSIHIE

D). Cycloalkanes [Correct Answer]

ATSFAIRTcH

Q.51. What is the purpose of the given tool?

AT g T BT SeYT wT 27

A). |Cutting metal
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B).

Q).

D).

Q.52.

A).

B).

Q).

D).

Q.53.

A).

B).

Q).

D).

Welding metal

dfee T o1qg

Measuring metal

arg HIY-AT

Marking metal [Correct Answer]
€T BT 3{h

Name the type of chisel that is commonly used for cutting across the

grainofwood
9q1sY FOrI®HT SUANT AR TR ddhe!
o e T T T Sy, -

Cross-cut chisel [Correct Answer]
PIA—PHC Bl

Flat chisel

IET B

Point chisel

bl Wl

Round nose chisel

M ATh drell Bl

Name the tool that is suitable for fastening or removing screws with a
cross-shaped slot.

Allen key

T Bt

C-clamps

A=ty

Bench vice

EERCIFS]

Phillips screwdriver [Correct Answer]

fhfore Uarpy
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Q.54. What type of spanner has both a ring-shaped end and an open end for
versatile use?

FET A PR S S d s

A). |Ring spanner
1 WR

B). |Combination spanner [Correct Answer]
HATTT R

C). |Open end spanner
U Us WK

D). |Universal adjustable open-end spanner

e TeoRedd AU U VR

Q.55. What is the least count of a micrometer used for measuring outside
diameter?

189 AT B AU B U ST fhy S a1t ArShIHeR &
H AT |7 87

A). 0.1 mm
0.1 T
B). 1mm
1 TR
C). 10.001 mm
0.001 f&1
D). 10.01 mm [Correct Answer]
0.01 o

Q.56. What is the name of the tool that is used for cutting sheet metal and
other thin materials?

SUHRI T ST 3 3R
e T L ST ST Fe o1 SR o

A). Tin snips [Correct Answer]

feq1 R

B). |Nippers
oo
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C). | Circlip pliers
Afheld @R
D). |Combination pliers

PHIIIL rd

Q.57. Which tool is suitable for measuring small gaps or clearances between
engine components?

oI TP D ST BIC RIS AT TR Dl 499 & foIg $iF
T SYBIVT SUGH &7

A).  |Thread pitch gauge
Jgs g 9
B). | Dial indicator
S Hdbdd
C)-  |Feeler gauge [Correct Answer]
BIeR IS
D). |Straight edge
T U

Q.58. Which metal joint method involves joining two pieces using a
mechanical fastener?

?%m?ﬁmwmwMaagw

A). Riveting [Correct Answer]
Rafer

B). |Soldering
RIGSINI

C)- | Adhesive bonding
veeRig difeT

D). |Welding
afesT

Q.59. Which of the following locking devices is commonly used to secure a
crankshaft pulley in a diesel engine?

e

A). | Cotter pin

B). |Locknut

0). Lock washer
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D). Key [Correct Answer]
EIE]]

Q.60. What tool is used to create threads in metal workpieces?

g & JHUN ¥ 959 M B fog fo| Suavor &1 SuanT
forar <mar 872

A).  |Hammer
RIS

B). |Hand Tap [Correct Answer]
B A U HRAl

C).  |Pliers
ferer

D). |Screwdriver

Uadd

Q.61. What is the main purpose of lapping in metalworking?

gIgHH § T HT G ST T 87

A). To improve surface finish [Correct Answer]
a8 ®I B3 Bl J8aR 991 & foru

B). |To create threads
deg 99 b forw

C). |To remove burrs
TSTSEE G &Y @ foly
D). |To drill holes
B R B oy

Q.62. Name the type of gear pump that has gears meshing internally with each
other.

firR du & o frR P
S e ST P e

A).  |Double acting gear pump
o e e
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B). |Single acting gear pump

Uhel UfdeT R 0y

C). | External gear pump
aredl R g

D). |Internal gear pump [Correct Answer]
HiaRes R 49

Q.63. What is the primary function of the given tool in vehicle maintenance?

e WIREIG | U 1Y SUSRT 1 yreifie R = 2?

A). Lifting vehicles [Correct Answer]
I8 ST
B). |Testing suspension
oRIeToT Heted
C). | Checking fluid levels
&9 WR Pl Sird Bl
D). |Changing filters
ftheey gaetHT

Q.64. Which component of a diesel engine is responsible for scavenging the
exhaust gases?

%@waﬁﬂwmmﬁﬁaﬁwm#a%m

A).  |Exhaust manifold
Hg AT FHE
B). |EGR valve
EGR dreq

C). |Camshaft
DI

D). Turbocharger [Correct Answer]

CEIEISH

Q.65. Which part of the engine is responsible for igniting the air-fuel mixture?

gg—s’aﬂﬁmiﬁruﬁlﬁﬁmﬁiﬁmmmaﬁﬁwm

Exhaust manifold
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Hg AT FEd

B). |Fuel injector

S goldex

C). |Spark plug [Correct Answer]
D I T

D). |Carburetor
PRI

Q.66. What does the given instrument measure?

feam AT SUBROT T AT 27

A). | Vehicle speed [Correct Answer]
qre- &l i

B). |Engine temperature
Sold DI dIUH

C). |Tire pressure
CIIX I qId

D). |Fuel level
SU WX

Q.67. Which type of combustion chamber is commonly used in modern diesel
engines for better fuel efficiency?

&R T B ﬁmﬁm SIoTd %Fr-ﬂ H AMAR W
UPR P TB1 D&l Bl forar <irar 27
A). | Hemispherical
SIS
B). |Pentroof
U
C). |Direct injection [Correct Answer]
ToeT 37d: &g

D). |Indirect injection

LT oI

Q.68. What can happen if a head gasket fails in a diesel engine?

g S5t 39 H g€ D [ABar 81 TMQ O |1 B qha 87
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A).

B).

Q).

D).

Reduced exhaust emissions
e S ¥ ®H

Increased fuel efficiency

So9 &l H gig

Improved engine performance
RSN RIEEE

Oil contamination [Correct Answer]

N

Q.69. What is the importance of valve seats in engine operation?

A).

B).

Q).

D).

SO HaTa # 91ed ¥Iel & T 78 &7
Sealing combustion chamber [Correct Answer]

S8 P& Pl A BAT

Reducing friction

YU HH PHRAT

Providing cushioning

&l U&T HRAT

None of these

3 A BIE Tl

Q.70. In a DOHC engine, how many camshafts are typically found per cylinder

A).
B).
Q).
D).

head?

DOHC 399 #, 3R R Ufd Riciex g8 fdam dawMe g
S 87

1

2 [Correct Answer]

3

4

Q.71. What material is commonly used for manufacturing piston rings in diesel

A).

B).

Q).

engines?

W%%mw ? fere =

Copper
LGl
Aluminum

egHIIH

Titanium

Join ARIl'Sir ITI Telegram channel for latest Updates



D). |CastIron [Correct Answer]

Pl ATeT

Q.72. What is a common trouble associated with piston rings in diesel
engines?

ot ol # e 1 9 S o o aam 87

A). |Reduced compression [Correct Answer]

ERIRISE]

B). |Excessive cooling
D SSh

C).  |Oil leakage
da R

D). |Spark plug malfunction
WP T Bl R

Q.73. Which part of the engine does the camshaft regulate?

PIMYC SO & g 9T B AT HRar 87

A).  |Fuel injectors
L GEENET]
B). |Intake and exhaust valves [Correct Answer]
9 3R B dred
C)-  |Timing belt
RIS
D). |Piston rings
fiRed & Boal

Q.74. Why is a chain tensioner used in a diesel engine?

SIS o9 ¥ 9 S¥ER BT SURT R fHar I 27

A).  |To regulate oil pressure. [Correct Answer]
dd @ g9@ 3l FRBA &1 & foy

B).  |To control engine temperature.
SO @ Ao DI FNERE @ @ forg

C)-  To adjust fuel injection timing.
S BT FHRIRTT BRe B iy

D). |To maintain proper tension in timing chains.
T Sl § I T91a 9917 @]

Q.75. Which type of cylinder sleeve is more susceptible to corrosion due to its
direct contact with coolant?
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A). |Wet sleeve [Correct Answer]
NIGIRSISSIG]

B). |Nikasil sleeve
(FTRTRIST 3R

C). |Flanged sleeve
REIECIRCR NSNS

D). |Dry sleeve
SREIEISSIG]

Q.76. Which method is commonly used for heat transfer in cooling systems?

gl W&ﬁmwzﬁmmwmﬁ@r

A). | Compression
<d1d
B). | Convection [Correct Answer]
HIFM
C). |Radiation
fafavor
D). |Conduction
gaTEdTd

Q.77. Which component of a cooling system helps regulate the flow of coolant
based on engine temperature?

NI JOIell BT DT S dI9AE D
E‘Wzﬁmwaﬁﬁ?%aa%ﬁwwgww

A). |Radiator
NEREH
B). |Fan clutch
LaiEsE
C). |Thermostat [Correct Answer]
oRCE
D). |Wwater pump
Ul Bl

Q.78. What does the SAE grading number represent in engine oil?
SO 3ifgeT # Tavs IfST FaR 1 q9itar 87
A). Viscosity [Correct Answer]
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B). | 0Qil color

del &1 3T

C). | Qil purity
EAGIRIEGI]

D). |Temperature resistance
ATIA TR

Q.79. What is the primary function of the pressure relief valve in a diesel
engine's lubrication system?

;ﬂgﬂﬁ;ﬁg)ﬂ%gﬁiﬁﬂ?ﬁmﬁwmwww

A).  [Filtering the oil
de BT

B). |Cooling the engine
ST Bl SST HIAT

C)-  |Increasing fuel pressure
S BT 919 IGTT
D). |Regulating oil pressure [Correct Answer]

e & ST Bl Yol BRAT

Q.80. Which component collects oil that drains from various engine parts in a
diesel engine?

SIoTel. 9 & DI |1 uch faff=1 g9 9 |9 e ara
ﬁaaﬁmm%

A). Sump [Correct Answer]
N
B). | 0il tank
qd b
C).  |Pickup tube
3y =@
D). |Oil filter
dd fheex

Q.81. Which component of the intake system is responsible for evenly
distributing air to the engine cylinders?

??5 Wgr sgﬁﬁﬁ@'\?rﬁwaﬁwm

A). | Air cleaner
TR Fell R

B). |Turbocharger
RIS
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C). |Intake manifold [Correct Answer]

g A BhIcs
D). |None of these

3T A DS 76T

Q.82. What type of air cleaner uses a mesh screen for filtration?

P9 YR BT TR TR fAed & o0 A9 ST BT ST
T 27

A). |Mesh screen [Correct Answer]
I WA

B). |Foam element
B T

). Dry type
b ThR

D). | None of these

30 A DS 76T

Q.83. Which component of the exhaust system is responsible for reducing
noise pollution?

Mﬁmmﬁiﬁmﬁmmmaﬁﬁww

A). | Extractors
RERSFEEA]

B). | Flexible connections
EEIGIERERE]

C). |Ceramic coatings
Rfie dife

D). |Mufflers [Correct Answer]
AhH o}

Q.84. Which system relies on the natural force of gravity to deliver fuel to the
engine?

?q‘x_ﬁ\rﬁﬁﬁ_\rm ws‘aﬁqgaﬁzﬁmumww

A).  |Forced feed system

Bris B ReH

B). |Gravity feed system [Correct Answer]
THTHYOT Bl JOTed!

C)-  |Mechanical Fuel Pump
RIECEERL]
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None of these

3T A DS T

Q.85. Which component is responsible for preheating the combustion
chamber in a diesel engine?

é@ﬁgﬁ'sﬁﬁﬁgﬁéﬁ?ﬁmﬁnﬁmﬁ%maﬁﬂws

A). |Glow plugs [Correct Answer]

Al T

B). | Plunger pump
ok g9

C). |Diesel injectors
SIoTel goldey

D). |None of these

30 A DS 6T

Q.86. Which type of diesel injection system utilizes a common rail for fuel
delivery?

A). |Electronic Diesel Control
SAdCid SIoldd Bhold
B). |HEUI diesel injection system

HEUI S soiaRE RiveH

C). |Turbocharging system
T RRed

D). |CRDI system [Correct Answer]
CRDI ¥=<H

Q.87. In which type of engine are the pistons arranged in a straight line?

frd PR & oM A O te O &1 # aRerd Bia 87

A). |Opposed piston engines
e fived g9
B). |V-type engines
AN—TPR B ol
C). lInline engines [Correct Answer]
ERCIERIENA]
D). |Boxer engines
CIES SRl
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Q.88. Which cooling system relies on airflow to dissipate heat from the
engine?

i @ i Ry, SO & T @ B B
R Pk e S T TR 5 fe g e

A). | Air cooling system [Correct Answer]
Iy icel YoITett

B). |Liquid cooling system
SNSRI

C).  |Hybrid cooling system
grsfas 3= womet

D). |Passive cooling system

BIGERISERRENIE]

Q.89. What is the main function of a non-return valve in a hydraulic system?

Tissifare Red # A9 Red ara &1 7= & &1 5?

A). | Adjust system pressure
RIeH T91a TSoRe &Rl

B). |Prevent backflow [Correct Answer]
JHTAT BT

C). |Regulate flow rate
TqT8 X DI R HeAT

D). |None of these

30 A DS T

Q.90. What is the purpose of the decompression lever in a diesel engine?

SIoTel SoiF H SIHUET oildy BT S T 27

A). |To increase compression during starting.
TIfET & SR BB e & folv
B). |To regulate fuel intake.
s Wad & fafafia &1 & fog
C). |To control exhaust emissions.
e ScavH B RIS o @ fore
D). |To relieve compression during starting.  [Correct Answer]
YHIAT B QIRM AUIST I II8d UM & foy

Q.91. Why is turbulence important in diesel engine combustion chambers?
Sl oI <8 B&l 3§ eXgold R A5aqyl 57

A). |Reduces fuel efficiency
SO qeTdT BH PN odl 2
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B). |Enhances mixing of fuel and air [Correct Answer]
Su SR I & AT BT gerT '

C)-  |Increases engine noise
SO BT TR F7T 8

D). |None of these

39 A DI T

Q.92. Which mechanism controls the opening and closing of engine valves?
aﬁﬂﬂ%{?ﬁzﬁﬁwmwzﬁiga#aﬁ?ﬁsﬁﬁﬁu%ﬁ
PXT BT

A). |Camshaft [Correct Answer]
DTS
B). |Spark plug
D I T
C). | Ppiston
e
D). |Crankshaft
DHHIIC

Q.93. What is the purpose of cam lobes in an engine?

foedl S99 ¥ DH olig BT 9T T 27

A).  |To adjust tire pressure
SRR & a1 Pl RN B & foly
B). | To monitor exhaust emissions
TGERE TR @l IR & forg
C)-  |To regulate fuel injection
RIS SOIaRIA Bl WGole HR & forg
D). |To control valve opening and closing [Correct Answer]

ared b ol 3R 98 B $I RGP $RA P fog

Q.94. What is the primary function of the connecting rod in a diesel engine?
Siofd o # HAfAET S FT RIS B a1 872

A). |Cooling the engine
S99 Bl ST HRAT
B). Storing fuel
S BT HSRT
C). Transferring motion from the piston to the crankshaft [Correct Answer]
e | HHIMIe Th A SIRIBR HRAT
D). |None of these
TH A BIs ol
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Q.95. What is the common cause of application bearing failure in diesel
engines?

%Ta%?sﬁﬁﬁmﬁuﬁwﬁﬁmwmw

A). |Lack of lubrication [Correct Answer]

DT B HH

B). |Over-tightening of bolts
dIecd Bl AfTH HEl

C). |Excessive cooling

D SSH

D). |Fuel contamination

WA PHATEH

Q.96. What is the function of a variable turbocharger mechanism in a diesel
engine?

SIoidd §o9 # dRTge cdEmoR 3 3T /&1 31 87

A). |To regulate the engine's speed.
SO B T B FRGT w3 fog
B). |To adjust the engine's compression ratio.
SO & BRI YW Bl TSR IR & [y
C). |To control the engine's exhaust emissions.
gol- & UdgeRe U9 &l fFRif3d o & fore
D). |To vary the airflow to the engine. [Correct Answer]

ol H TIR—TAT Bl JTT—IAT HR & foIU

Q.97. Which component of a diesel engine is responsible for converting
reciprocating motion into rotary motion?

A). |Ppiston
e
B). |Crankshaft [Correct Answer]
DHHIMIS
C). |Camshaft
ERNIRE
D). |Spark plug
TP T

Q.98. What is the purpose of the high-pressure oil pump in an HEUI system?

HEUI YUTTell § S0 <919 9Tt del U9 &I Se3g 4T 87
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A). |Pressurizing the fuel [Correct Answer]
ECRRAES ISl

B). |Cooling the engine
SO Bl BST HRAT

C). |Lubricating engine components
§9TF "Cd! Pl RIS <

D). |None of these

30 A DI 6T

Q.99. Which component of the vehicle exhaust system is responsible for
reducing hydrocarbon emissions?

A). |EGR valve
EGR darea

B). |Oxygen sensor

SRioH TR

C). |Turbocharger
RIS

D). | Catalytic converter [Correct Answer]
defolfed PHac

Q.100. Which pollutant is a product of incomplete combustion of
hydrocarbons in diesel engines?

@aa?ﬁﬁm@méﬂa%a@ﬁmwaﬁqw
qGTD &7

A).  |Water vapor
gfex qiR

B). Carbon monoxide [Correct Answer]
dﬁlﬁi"l BIRESICSIES]

C).  |Sulphur content
NEEASILP]

D). | Nitrogen oxides
SIENMSRESIESIES

Q.101. Which aspect of communication involves speaking clearly and
effectively?

A). | Body language
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B). | Active listening

Q). Written communication

D). Verbal communication [Correct Answer]

Q.102. Plural form of the word “child"” is .

A). Childs

B). Childrens

0). Children [Correct Answer]

D). Childer

Q.103. Identify the correctly spelled word.

A).  |Occassion

B). Occasion [Correct Answer]
Q). Ocasioon

D).  |Ocassion

Q.104. The antonym of the word 'transparent’ is

A).  |visible

B).  |translucent

0. |clear

D). opaque [Correct Answer]

Q.105. Directions: Fill in the blank.

It's important to to new regulations quickly.
A). adapte
B). adabt
0). adatp
D). adapt [Correct Answer]
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Q.106. Directions: Fill in the blank.

To achieve accuracy, one must be

A).  |precice

B).  |precize

Q). precise [Correct Answer]
D). |preecize

Q.107. To 'accelerate’ means to speed up. Its antonym is

A).  |decelerate [Correct Answer]
B). |rush

C). | hasten

D).  quicken

Q.108. Directions: Fill in the blank.

He is known for his__ mind, and always comes up with clever
solutions.

A). lazy

B). intelligent [Correct Answer]

€).  |confused

D). |dull

Q.109. In written communication, what does the term "CC" typically stand for?

A). Creative Content
B). Carbon Copy [Correct Answer]
Q). Correct Context

D). | Complex Code

Q.110. Which gesture is commonly used to indicate confusion or uncertainty?

A).  |Scratching the head [Correct Answer]
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B).  |Rubbing palms together

0). Clapping hands

D). | Thumbs up

Q.111. Which communication channel is considered the most formal?

A). Phone calls

B). |Face-to-face meetings [Correct Answer]

0.  |Emails

D). |Instant messaging

Q.112. Where is the 'wh' word typically placed in a question?

A). At the beginning [Correct Answer]

B). In the middle

Q). At the end

D).  |Anywhere in the sentence

Q.113. Which punctuation mark is used to separate the introductory phrase
from the main clause of a sentence?

A).  |Colon ()

B).  |Semicolon ()

0). Period (.)

D). |Comma() [Correct Answer]

Q.114. Complete the given series:
& TS ST B R BN

3F,6G 111 18L, 7

A). [21R
B). 25N
0). 27 Q
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D). 27 P [Correct Answer]

Q.115. Find the odd one out in the given series:

& T sEe ¥ ¥ I B G
3,5,7,9,11,13

A). 5

B). 7

0). 9 [Correct Answer]
D). |13

Q.116. If in a certain code language, KOLKATA is coded as LPMLBUB, how
RANCHI will be coded in that code language?

Ife v fAREd dIs 99T §, KOLKATA @1 LPMLBUB ® w4 ¥
PIfed fhar SIar 8, O SS9 DI 9INT § RANCHI B Y BlS

fpar seem?
A). SBODIJ [Correct Answer]
B). SCOEJI
C). | QBPEHK
D). QCEQOLl

Q.117. If X is the brother of the son of Y’'s son, how is X related to Y?

AXIX, YD F D IADAE & X BT Y ¥ T e 87

A). Son
=
B). Brother
a1y
0. Father
fOar
D). Grandson [Correct Answer]
grar

Q.118. If A is to the south of B, and C is to the east of B, then in which direction
is A with respect to C?

afe A, B $_€|§Wﬁ%,3ﬁYC,B$Qﬁﬁ%,ﬁC$WﬁA
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A).  |North-east
STR-—7d
B). |North-west
IR—Y =
C). |South-east
<faror-—gd
D). South-west [Correct Answer]

feror—ufdes

Q.119. Rhea introduces Raman as the son of the brother of her mother. How is
Raman related to Rhea?

S Y e e e v

A).  |Nephew
SISl
B).  |Brother
GlE]
Q). Cousin  [Correct Answer]
TR WS
D).  |None of these
574 9 PIs 8

Q.120. What is the next number in the sequence: 12, 15, 17, 20, ...?

IHH H IFTAl 6T T 7t 12, 15, 17, 20, .7

A). 22 [Correct Answer]

B). 20
0). 24
D). |21

Q.121. In the given question, there is a certain relationship among three
options out of the given four options. Find the fourth option which is
not related.

R S 31 Forl e B o s

A). |Sofa
TPT

B). |Stool
ool
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0. Lamp [Correct Answer]

[k
D). |Chair
Gl
Q.122. If'+' means'—', ' means = '-'means =’ _and = means '+, then

aft o mrad R e mr At e B g gt e B, G  m aed B
450x 15+7-4+15="7

A). |15
B). 14 [Correct Answer]
Q. |12
D). |10

Q.123. Which of the following group (In Answer Options) of English letters will
look the same in the mirror?

N T P 3
T T ST T DI W1 We (ST )

A). MAHUHAM [Correct Answer]
B). AOVZVOA

€.  |HITNTIH

D). |VHRTRVH

Q.124. Five girls took part in a race. Reena finished before Mohini but behind
Gauri. Ananya finished before Sanchi but behind Mohini. Who won the
race?

T T W R

A). Reena
Sl

B). |Ananya
=T

Q). Mohini
Aifg=

D). Gauri [Correct Answer]

TR
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Q.125. Six ladies P, Q, R, S, T and U are sitting around a round table. Q is
between S and R. P is between T and R. U is to the right of S. Who is
between P and U?

Bg At P,Q, R, S, TR U t& M 451 & IR IR S 1 Q,SARR &
I PLTIRRSIEEIU,SPTE AR PIRUSD = 9 =°

A). T [Correct Answer]

B). R
Q). S
D). Q

Q.126. In the given question, there is a certain relationship among three
options out of the given four options. Find the fourth option which is
not related.

WW#l@m%mﬁﬁﬁmﬁﬂ@ﬁmw

A).  |Screw
U

B). Hammer [Correct Answer]
ERISH

0). Needle

9=
D). Nail
Pl

Q.127. If 3x + 4 = 16, what is the value of x?

gfe 3x +4 =16 & X &I 99 T 27

A). 4 [Correct Answer]

B). 3
Q). 5
D). 6

Q.128. What is the total of the internal angles in a triangle?
e gt ¥ riaRe o &1 ot AT fHaer s 872

A). |90 degrees
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B). 270 degrees

0). 360 degrees

D). 180 degrees [Correct Answer]

Q.129. What is the next prime number after 17?

17 & 915 3NTel TS W&l B Al 87
A). 18
B). 19 [Correct Answer]
0). 20
D). |21

Q.130. The binary system uses how many digits?

e e fhas sl BT SUANT HRar 27
A). 2 [Correct Answer]
B). 4
Q). 10
D). 6

Q.131. What is the LCM of 8 and 12?
8 3R 12 &1 LCM a1 287

A). |16
B). |20
C). 30
D). 24 [Correct Answer]

Q.132. If 40% of a number is 20, then 25% of that number is .

Ife fly & BT 40%, 20 B, A SH G&AT BT 25%, ———————— 2|
A). 12.5 [Correct Answer]
B). 25
0). 125
D). 80
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Q.133. Imagine, you have a cube-shaped box, and each side of this box

A).

B).

Q).

D).

measures 5 centimeters. What would be the total amount of space or
volume inside this box?

wwﬁ&%ﬁws a@lwamz%aﬁ?

X Gl SITTE AT

150 cubic cm

150 B9 TH!

175 cubic cm

175 O AH

125 cubic cm [Correct Answer]
125 T AH

200 cubic cm

200 T HH!

Q.134. If a = 19 and b = 33, what is the value of a2 + b??

A).
B).
Q).
D).

I a=19 R b=33 8, dra%+ b? &1 71 w1 8?7

1450 [Correct Answer]
1276
1170
1336

Q.135. In a survey, 60% of people preferred tea over coffee. If 300 people were

A).
B).
Q).
D).

surveyed, how many preferred tea?

TP A4 § 60% NN o DIP! B S a1 B FrRIffwar < | I 300 AN BT
Jderor foar T, @ fas A A 9 e B1?

180 [Correct Answer]

120

150

200

Q.136. If a train travels at a speed of 60 kilometers per hour, how many

A).
B).
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kilometers will it travel in 3 hours?

S 11 0 RrcfieT 3 2 1 7R & T ¢,
TP XTI 60 Freliey g o :

150
210



Q). 220

D). 180 [Correct Answer]

Q.137. You're measuring the perimeter of a square-shaped garden, and you
find it to be 40 meters.
How long would each side of this square garden be (In meters)?

AT (P APR IMHR P 9 B IRE 719 2 &, 3R gyt Ig 40 Hex B 21

ELl SEM B TS 4ol [ el (#ex ¥) BRfi?
A). |20
B). 5
0). 10 [Correct Answer]
D). 15

Q.138. What is the term used to describe the transformation of water into
vapor?

A).  |Evaporation [Correct Answer]
CILIERI

B). Sublimation
RACLIGED

C).  |Melting
A
D). Condensation

Q.139. What is the standard unit used to measure electric current?

faga a1 & AN & fo WY Ae 3EE T 87

A).  |Ohm
34
B).  watt
dic
0.  |Volt
drec
D). Ampere [Correct Answer]
TR
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Q.140. Which of these options represents a sustainable energy source?

gﬁﬁaﬁﬁwﬁmwwﬁrwﬁ%ﬂammm

A). Solar [Correct Answer]
AR

B). Coal
DI

0). Natural Gas
EIEARCARINI

D). | Petroleum
Ugiferd

Q.141. You were testing a solution that is neither acidic nor basic.
What pH value would you expect to find?

RIeTor S 9 O ey ® 3R AR
o T T T A o & o e
A). 10
B). 7 [Correct Answer]
Q). g
D). |14

Q.142. Which planet is known as the “"Red Planet"?
&9 g & ‘A9 UT D AH QST S 87

A). Earth
g1
B). | Jupiter
FEESIS]
C).  |Venus
NEZ
D). Mars [Correct Answer]
AT U8

Q.143. What does RAM stand for in computing?

HGRT § RAM BT FT 3ef 37
A).  |Random Access Memory [Correct Answer]
YSH Tad HART
B).  |Read-Only Memory
NEIIERIGIRY
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Rele v #9oR
D).  |Real-time Analysis Module
RIS 159 TR Al

Q.144. What does 'C' stand for in the banking/financial term KYC?

dféT / faxTia e darddr | A &1 Seeg R/ 27

A).  |Checking
AfHT
B). Caution
NICEIRI]
0). Careful
NGED
D). Customer [Correct Answer]
PIEED

Q.145. The Indian state of Goa was a former colony of which European
country?

RAT T MaT f6d G <91 o1 qd Sufaer or?

A). | Netherlands
RIS

B). |Spain
Rkl

Q). Portugal [Correct Answer]

GRIGH

D). France
i

Q.146. Which river is known as the "Ganga of the South"?

PH—H T SRAT B T B AW | ST o 8 P

A).  |Yamuna
agr
B). | Godavari
MISIER
Q). Kaveri [Correct Answer]
EaER
D). |Narmada
THGT

Q.147. The Indian National Congress was founded in which year?

ARA TS U 3 wueT 6 af g8 o
Join Anil Sir ITI Telegram channel for latest Updates



A). 1947
B). 1857
0). 1905

D). 1885 [Correct Answer]

Q.148. Who was the first Indian to win the Nobel Prize?

A RER ST 91t U8l HRA™ I 9?7

A). C.V.Raman
NGRS
B). | Amartya Sen
SR
Q). Rabindranath Tagore [Correct Answer]
RGIsTT SR
D).  |Mother Teresa
LEASASll

Q.149. Which element is the most abundant in the Earth's crust?

Qe B UL § DI AT O FIW B AT H YR A1 89

A).  |Carbon
BIeA
B). Oxygen [Correct Answer]
SIENISE]
Q). Hydrogen
HETSIINE
D).  Silicon
Raferata

Q.150. Which lake in India is known for its floating islands?

AR BT B A A U FANCT IMgeisd $ o1 ST St

&
A). Loktak Lake [Correct Answer]
dAldhed el
B). Sambhar Lake
AR 3
0). Chilika Lake
et e
D). | Dal Lake
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